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Direction : Fill up the blank with suitable
preposition from the alternatives given.

1. He was in a hurry and just glanced

the letter.
[A] over (B] at
[C] through [D] by

[E] None of the above

Direction : In .the following question, a part of
the sen.tence is underlined. There are given
alternatives [A], [B], [C], [D] and [E] to the
underlined part which may improve the
sentence. F'fnd the correct one and mark it.
In case, no improvement is needed, option [E]
is the answer.
2. 1 hope you won't object to me watching
while you work.
[A] against me watching
[B] me to watch
[C] to my watching
[D] about me watching
[E] No improvement
Direction : In the following question, five
options [A], [B], [C], [D] and [E] are given
which better describe the meaning of the
sentence in one word. Choose the correct
alternative among them.
3. An office or post with no work but high
pay ; A
[A] Honorary [B] Sinecure
[C] Gratis (D] Ex-officio
[E] None of the above _
Direction : In the following ‘question, a
sentence is given with a particular word given
in CAPITAL letters in it. You are required to
determine the most opposite of that word from
the given options [A], [B], [C], (D] and [E].
4. SAGACIOUS decisions taken at right
time in career has long effects.
[A] Foolish
[B] Intelligent
[C] Thoughtful
[D] Intuitive
[E] None of the above .
Direction Choose the most suitable
alternative [A], [B], [C], [D] and (E] to make
the sentence logical in sense.
5. During rainy seasomn, this stream was
[A] overflowed
[B] overflow
[C] overflown
[D] overflowing
[E] None of the above

18 E

.
(Al I
B
(c] 31
(D] fam
E) i & @ AT
" ‘gaa,w@_ﬁ?}aaﬁl_
[A] H+'aa
lB] gl + @
[CI Gﬁ+ﬁa
[D] & + 9 :
[Elaqﬂ?ﬁﬁﬁ?ﬁgqa i
e« fog e e 1 s e 1 o 3 o e
mﬁgaﬁﬁaﬁmgﬁqaﬁlaﬁw-ﬁﬁ:\
aiferd =g | : '
8. @ 3w # whel @ R wgd ___ #
[A] &HH
%@ B @
& () fawr
(D] HHHA
[E] 30w # F H§

9. ‘T H Wb AT w1 ar I 27
(Al 98 o & faedht =1 sm S
(B] §a @™ &

[C] Feft-3-frdt wepr whrr &g TEAT
D] 7 anfR B
[E] 39w § &+ &

ﬁamzﬁqqq
Sopiely 1 Mﬁﬂﬂtﬁ!ﬂﬂﬁw

10. [A] s
[B] 3w
(C] amms
[D] @@
[E] It § 3 a1




(T

11.

12.

13.

14.

15.

_ 16.

17.

/6-E

Which of the following is not correct?
[A] Light is an electromagnetic wave
[B] Light travels in a straight line
[C] Light is a transverse wave

[D] Light is a longitudinal wave

[E] None of the above

Is it really true or a myth that stars

appear higher than they actually are?

If yes, then which phenomenon is

responsible for it?

[A] Myth

[B] Yes, refraction of light

[C] Yes, atmospheric refraction of light

[D] Yes, dispersion of light

[E] None of the above

The charge of impeachment against

the President of India for his removal

can be preferred by

[A] Both houses of Parliament

[B] Speaker of Lok Sabha
Chairman of Rajya Sabha

[C] Rajya Sabha

[D] Lok Sabha

[E] None of the above

GST is

[A] State tax

[B] Central tax

[C] Excise duty

[D] Both [A] and [B]

[E] None of the above

Which of the following is not involved

in the preparation of budget?

[A] Finance Ministry

[B] NITI Aayog

[C] Comptroller and Auditor-General

[D] Finance Commission

[E] None of the above

Which one among the following States
has the highest gender disparity?

and

[A] Odisha [B] Uttar Pradesh
[C] Haryana [D] Maharashtra
[E] None of the above

The first woman Governor of a State in
free India was

[A] Mrs. Indira Gandhi

[B] Mrs. Vijaya Laxmi Pandit

[C] Mrs. Sarojini Naidu

[D] Mrs. Sucheta Kripalani

([E] None of the above '
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Tughlakabad was established by
[A] Ghiyas-ud-din Tughlaq

[B] Muhammad bin Tughlaq
[C] Firuz shah Tughlaq

[D] Abu Bakr Shah

[E] None of them

The meaning of the name Jainism’
comes from ‘Jina’ which means

[A] peace and surrender to God

[B] the enlightened one

[C] the way of the Gods

[D] the spiritual conqueror

[E] None of the above

Who is regarded as the ‘Father of All-
India services’?

[A] Lord Macaulay
[B] Lord Cornwallis
[C] B. R. Ambedkar
[D] Sardar Patel
[E] None of them

Which one of the following is
associated with the formation of brown
air in traffic congested cities?

[A] Sulphur dioxide

[B] Nitrogen oxide

[C] Carbon dioxide

[D] Carbon monoxide

[E] None of the above

In fireworks, the green flame is
produced because of

[A] sodium [B] potassium

[C] barium [D] mercury

[E] None of the above

The period of Aryans of Kuru Vamsha,
centuries before the Mahabharata
period was marked with the beginning
of which of the following ages?

[A] Cultivation age

[B] Copper age

[C] Iron age

[D] Metal age

[E] None of the above

Which of the following provinces of
Haryana extended valuable cooperation
to the British army in the Revolt of
1857?

[A] Bahadurgarh [B] Tawaroo

[C] Jhajjar [D] Jind

[E] None of the above
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Who among the following great warriors
of Haryana was the Naib Kotwal of
Meerut at the time of Sepoy Mutiny?
[A] Abdus Samad Khan

[B] Vikram Singh

[C] Rao Krishna Gopal

[D] Rameshwar Dayal

[E] None of them

In the first Freedom Struggle, which of
the following Kings of Ballabhgarh led
the revolutionary army in Delhi?

[A] Raja Karn Singh

[B] Raja Nahan Singh

[C] Raja Suraj Bhan

[D] Raja Satyapal

[E] None of them

Haryana Day is celebrated on

[A] 1st November [B] 13th November
[C] 1st December [D] 8th December
[E] None of the above

Being famous in the production of
Basmati rice, which district of Haryana
is known as ‘Dhan-ka-Katora’?

[A] Sirsa (B] Karnal

[C] Panchkula [D] Jind

[E] None of the above

The cricket test match in which Kapil
Dev of Haryana took 432nd wicket to
make a record of taking maximum
number of wickets was held on

[A] 10 January, 1992

[B] 8 December, 1996

[C] 8 February, 1994

[D] 12 August, 1997

[E] None of the above

Geeta Jutshi, a famous player of
Haryana, is concerned with which of
the following games?

[A] Gymnastics [B] Race

[C] Badminton (D] Tennis

[E] None of the above

In Haryana, the skirt worn by females
from waist to ankle which is without
any gusset and made of hand-spun
coarse cloth knitted by using four blue
and four red threads is called

[A] Dharna [B] Khara
[C] Thara [D] Kachara
[E] None of the above
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At Islampur in the district Gurgaon,
which of the following festivals (Mela)
is organised on the ninth day of Bhado
(the sixth month of the vear according
to the Hindu calendar)?

[A] Gugga Naumi

[B] Nag Pooja

[C] Yamuna Snan

[D] Shiv Mela

[E] None of the above

Which of the following traditional
omaments is worn by males in Haryana?
[A] Goph [B] Tagari

[C] Nada [D] Kadi

[E] None of the above

In order to promote Punjabi language
in Haryana, it has been made the
language of the State.

[A] first [B] second

[C] third [D] fourth

[E] None of the above

The number of districts in Haryana is
[A] 16 (B] 17

[C] 18 [D] 21

[E] None of the above

The tourist place called Oasis 1S,
situated at which of the follo
places in Haryana? ¥

[A] Faridabad (B] Bhiwani
[C] Uchana [D] Rewari
[E] None of the above

Bhakra Canal provides water for
irrigation in which of the following
districts of Haryana? ,

[A] Sirsa [B] Hisar

[C] Rohtak [D] All of the above
[E] None of the above

Which of the following lakes is situated
in Farrukh Nagar block of the State?
[A] Sultanpur lake[B] Damdama lake
[C] Khalilpur lake[D] Kotla lake

[E] None of the above

The famous Badkhal lake is situateq
in which of the following districts of
Haryana?

[A] Gurgaon [B] Bhiwani

[C] Faridabad [D] Rohtak

[E] None of the above
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Which district of Haryana ranks first in
the production of mustard?

[A] Mahendragarh

[B] Faridabad

[C] Rohtak

[D] Panipat

[E] None of the above

Which article manufactured in Haryana
is exported to foreign countries?

[A] Brass Utensils

[B] Paint

[C] Liberty Shoes

[D] Wooden Furniture

[E] None of the above

Which is the famous eco park of
Haryana?

[A] Sultanpur Bird Sanctuary

[B] Kalesar National Park

[C] Asola Bhatti Wildlife Sanctuary
[D] Bir Shikargah Wildlife Sanctuary
[E] None of the above

The climate of Haryana is subtropical

dry continental, mainly due to the

[A] distance from the Himalayan
Mountains

[B] South-Western monsoon win .

[C] distance from the Morni Hill@%

[D] North-Eastern monsoon wind [u] I

[E] None of the above

In which geo-gestational period,| the
river, drain, mountains etc. were
constructed smoothly in the State of
Haryana?

[A] Mesozoic period

[B] Paleozoic period

[C] Cenozoic period

[D] Jurassic Period

[E] None of the above

The bending of electrodes of lead acid
cell due to overcharging and
discharging, improper electrolyte and
temperature is known as

[A] local action [B] sulphation

[C] buckling [D] sedimentation
[E] None of the above

Efficiency of a transformer is usually
[A] 70-80% [B] 60-70%

[C] 50-70% [D] Above 90%

[E] None of the above

wE=l

40,

41.

42.

43.

gt ® Iaarea # gfEmn &1 wh-a faen gaw
W @ 87
[AL TR
[C] UEas
[E] 390w ® & S5 7@

giamn # fiffn $R-d ag fw = el
& et 27

[A] e F a6

[B] ¥ (Paint)

Jor Tl & 3

[D] #et & WK (Furniture)

[E] 3R A & w1 T

g =1 @ A Uk SH-E 27

[A] geamg waft faem

[B] W A ITH

[C] 3Een W& SRS ANAR

(D] #R RprmE T=sia IERE

[E] IWm & & 5§ Td

ghamon it Sy e wfeady 2, fwe
e H 8

1A] femem wda & @

B Zhm-vffeh A

[C] A wers & gl

[D] IW-TEAl AR T

[E] 3R # ¥ %13 T&

fra y-mife = 8 gfamn Ts1 7 76, 79,
g 3 w1 gaw w9 & Fmim gan?
[A] AEises @

B] ¥iNEE

[C] &NiEH Fe

[D] Juf e

[E] 39 & @ =1 T8

sftaranin o feemfiin, sHwEE wwieme
G qHE % T, d8 e d F e

& WS H wE Wl @
[A] i%a TE [B] HeHH
[C] whfem [D] afdsm

E] 370w # & =8 78
FIYTUE: UF giEEEt 6l g B 2
[A] 70-80% [B] 60-70%
[C] 50-70% DY 90% & I
[E] 390w & & o &
[P.T.O.



47. Two batteries each of open circuit

48.

49.

50.

51.

52.

53.

/6-E

nal resistance of

voltage 2V and inter
d in parallel to

2 ohm are connecte
supply a load of 2 ohm,
supplied by the battery is

[A] 033 A B] 2A
[C] 08A [D] 066 A
[E] None of the above

The purpose of the capacitor in a fan is
to

[A] increase the speed

[B] protect the fan when fault occurs
[C] control the speed

[D] give phase shift

[E] None of the above

What 1is the correct relationship
between capacitance (C), voltage (V)
and electric charge (Q)?

=2 B] C=VxQ

v

|4
[C] OQ=— [D] Vv=CQ
[E] None of the above
What is the minimum internal
diameter of GI pipe for pipe earthing a©
per Indian standards?
[A] 32 mm [B] 38 mm
[C] 28 mm (D] 25 mmr
[E] None of the above
Two wires of resistances are joined in
parallel. The equivalent resistance
may be '
[A] less than the smallest member
[B]
[C]

(Al -

mid-value of both the resistors i
[D] zero

[E] None of the above

The length and area of cross-section of
a wire are doubled, its resistance is
[A] unchanged [B] doubled

[C] halved [D] quadrupled

[E] None of the above

Constantan wire is used for making
standard resistance, because it has
[A] high melting point

[B] low specific resistance

[C] high specific resistance

[D] negligible temperature coefficient
of resistance

None of the above
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54. When a motor car is started its light
becomes slightly dim because
[A] of induced current in the coil
[B] battery e.m.f. falls
[C] starter draws high current
[D] of large potential drop
[E] None of the above

55. According to Kirchhoff’'s law the
algebraic sum of the products of
current and resistance as well as e.m.f.
in a closed loop is
[A] zero
[B] greater than zero
[C] less than zero .

(D] one
[E] None of the above

86. Primary distribution voltage is
[A] 33 kV (B] 415V
[C] 3-3kV [D] 11 kV
[E] None of the above

57. To get more holes, a pure silicon is

doped with

[A] phosphorous [B] boron
[C] arsenic [D] antinomy
[E] Nonme of the above

§8. Which of the following refers to a small,
single-site network?
(A] LAN [B] RAM
[C] DSL [D] USB
[E] None of the above

59. Which motherboard form
one 20-pin connector?
[A] Baby AT (B] AT
[C] ATX (D] All of the above
[E] None of the above

60. The insulating materials to be used for
most of the electronic equipments, have
[A] arc resistance
[B] thermal stability
[C] high electric

strength

(D] All of the above
[E] None of the above

factor uses

and mechanical

61. A bimetal relay is used for
[A] overload protection
[B] underload protection
[C] Both [A] and [B]
[D] Temperature control
[E] None of the above
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The yoke of a DC generator is usually
made of

(Al
(B]
[C]
(D]
(E]

cast iron
copper

silicon steel
stainless steel

None of the above

For a semiconductor,
coefficient of resistance is

[A] positive

temperature

[B] zero
[D] one
[E] None of the above

[C] negative

Which motor is used in ceiling fan?
[A] Shaded pole motor

B)
[C]
(D]

Permanent capacitor motor
Universal motor

Capacitor start,

motor

capacitor run

None of the above

[E]

Which is a passive component?
[A] Diode

[B] Transistor

[C]
(D]
[E]

Insulator
All of the above

None ‘of the above

Which typé of a single-phase motor is
having a commutator?

[A]
(B]
(C]
[D]
(E]

In DC machine, number of commutator
segment is equal to

(A]
(B]
[C]

(D]
(E]

Water pump motor
Repulsion motor
Shaded pole motor
Stepper motor
None of the above

number of armature conductors
number of poles

number of conductors

two times number of poles
None of the above

10

62. WHRVE: T DC IR F A1H (yoke) &

63. Arfieaey  forg Wil &l AHF O Bl

5B ()
[=

LR L

g @

(A] FTR I H

B] HW F

(c] fafem € &
[p] e € |

[ 3R # § FE T

2

[A] uifsfed [B] A
fomfea [D] T
 (E] I d @ @S T

64. difem T@ § H-a1 Wi FFER fF S 272

(A] 32T GIE WX
L[P]/qqﬁz%mfhattﬁa

[C] gfade Hi

O] Ff wr, et @ AR
[E] 39w ° ¥ @5 &l

65. ®H-a1 &k Afyd Fue 37

(A] s@EE

[B] et

[C] FgaX

[D] 3T Wt

[E] 3R # ¥ 91 7&

66. oFH SRR % férer-thet et # e A 27

[A] X U9 HK

B] fueem wHiex

[C] #¥s die HiX
[D] VW #IX

[E] ST # & w18 T

67. DC ¥ #, FRpe dmite i e g el

2

[A] 3R hewx N dEN F
[B] died I wen ¥

[C] #eFr i we&m F

D] 98 R Fen F AP F
[E] SR # 4 1 =

!
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68. What is the reason of tem
hardness of water? i
IA] Nagsoq [B] C&Clg
(C] NaCl [D] Ca(HCO,),
[E] None of the above

9. If measured temperature on Fahrenheit
scale is 200 °F, then the reading on
Celsius scale will be
[A] 40 °C [B] 94 °C
[C] 93.3°C [D] 30 °C
[E] None of the above

70. The Chota Nagpur Plateau is drained
by which river?

[A] The Damodar river

[B] The Godavari river

[C] The Ganges river

[D] The Krishna river

[E] None of the above _

71. Which of the following is agﬁculturm
the most productive part of India? 35

[A] Northern plains
[B] Peninsular plateau
[C] Coastal plains
[D] Indian desert
[E] None of the above
72. Lack of oxygen in muscles often leads
to cramps among cricketers. This
results due to
[A] conversion of pyruvate to ethanol
[B] conversion of pyruvate to glucose
[C] non-conversion  of glucose to
. pyruvate
[D] conversio
[E] None of the above
73. An adult human on an average
produces
[A] 1-2L of urine per day
[B] 1-5 L of urine per day
[C] 2-5 L of urine per day
[D] 4-5 L of urine per day
[E] None of the above
74, A father is 7 years older than .thc
mother and the mother’s age now is 3
times the age of the daughter. The
daughter is 10 years old now. What was
the father’s age when the daughter

n of pyruvate to lactic acid

was born? g
[A] 27 years (B] 37 years
[C] 15 years [D] 40 years
[E] None of the above !

I6-E

68. Ft H s FA@ H T B 7

[A] NaySO4 [B] CaCl,
[C] NaCl [D] Ca(HCOj),

[E] 39w § & HE T
af ReEe T G AT T aeE 200°F

69.
2 @ At dum W 9B B
[A] 40°C [B] 94°C
[C] 93.3°C [D] 30°C
[E] 3w d & wE T
70. e TR vER few A g FEted g &7
(A g T
(B] TgEd Tl
[c] Tm &
[D] F= TQ

[E] 3w #§ & @
w1, Breffes # @ sW-w A A R F W@
F qER IUCH T R?

(A] I A

[B] WY (Peninsular) 3R

[c]- e ATH

(D] Wt AR

E] 0w d & F§ 7

miifRrdl § s 6w & s fRwel
ffﬁaqﬂ’l?ﬂﬁlmqﬁﬂmmmﬂ

[A] STEEEe @1 gAATE A S

(B] WEEAE 1 HE A T

[C] @awmﬁm

(D) qEEde & AfFcs A W EHI
(E] 3w d & PR TE -
73. UF TUEH WIA IAw I F R

[ay” fefer 1-2 L T

(B) wfafea 1-5 L T

(c] Sffe 2-5 L@

(D] sfafer 4-5 L T

[E] i & & F T

o foer wf @ 7 @ wg @ S A A dww
3q 39§ I8 w3 T 2 | % anfi 10w
£ 238 F v % e e 9w w7 dty
_Ip 27 I [B] 37 €&
[C] 15 @@ [D] 40 &1&
[E] 3G d & FE T

72,

74.
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75. A train moves pasta telegraph post and 75, T&H T THATH it kG

a bridge 264 m long in 8 seconds and
20 seconds respectively. What is the
speed of the train?

[A] 69.5 km/hr B] 70 km/hr

[C] 79 km/hr (D] 79.2 km/hr

[E] None of the above

. A jar full of whisky contains 40%
alcohol. A part of this whisky is

replaced by another containing 19%
alcohol and mnow the percentage of

= o & 8 3 20 ¥ # T A R
¥ ufa w0 RY

[A]- 69.5 fp.f1. 8@ (B] 70 fop. 1. /8@

[c] 79 fpift. ga D] 79.2 fo. ). /a1
[ 0w A 8§ w13 T

R A W WA 40% FehiEa 81 $@

foeh % TH W H 10% 3ehiEd I G
mﬁﬂaﬁmm%aﬂtmaﬁﬂ'{am

alcohol was found to be 26%. The ratio ofwera 26% TR | S et
of quantities of whisky replaced is Fqu@ N HE 2
Al 1/3 B] 2/3 A] 1/3 B] 2/3
€1 2/5 (D] 3/5 [Cl 2/5 [D] 3/5
[E] None of the above [E]'@ﬂ?ﬁﬁﬁaﬁgqéf g,—b g
"fig
77. The speed of a boat in still water is 77. R« # @ M & wfd 10 faiotﬁoffi'ﬂ.fal

10 km/hr. If it can travel 26 km
downstream and 14 km upstream in
the same time, the speed of the stream is
[A] 2 km/hr [B] 2.5 km/hr i a2 i
[C] 3 km/hr  [D] 4 km/hr ) 2o (0] 35 e/

[E] None of the above [C] 3 forfio/der D] 4 forlo /5l

[E] IRE # ¥ 3 &

e g @ T 3 T % e 26 Fhorlo
3R ﬂm%ﬂ'ﬁl@.lf% ﬁnj'otn_i;ﬁ ?El'['ﬂT B

gt 3, @ uw A onfa R pp 25N

p—

78. Find the value of the following :

o < . e 1
[A] 49 B] 46 (343)2+(343)§ "B';g’;ﬂf
[c] 42 [D] 40 [A] 49 B] 46
[E] None of the above [C] 42 D] 40

E i & 3 98

79. ¥4,000 is divided into two parts such

that if one part be invested at 3% and @E& 34,000 F T WA ¥ 3@ v fRwnfa e
12
[8};

g T s 3R A 30 s g
H 5% A [ Y Py R g, @ A Pt
W A W ¥ 144 R1 s wm §@ H
A~%2,806, ¥1,200 Posrs. P

o loe
(Bl ¥3,000,%¥1,000 «Q

the other at 5%, the annual interest
from both the investments is ¥ 144,
Find each part.

[A] ¥2,800, 1,200

[B] ¥3,000, <1,000

[C] ¥2,500, ¥1,500

. L
[C] ¥2,500, ¥
(D] ¥2,200, ¥1,800 1,500

D
[E] None of the above (D] ¥2,200, 71,800

/6-E - E] 3R & A 9 &
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40 Find the number of triangles in the
given figure.

(A] 8 [B] 10
[c] 11 [D] 12
[E] None of the above

Eﬁlil
g1. Select a figure from amongst the A%

Figures which will continue the same
series as established by the five

Problem Figures.
Problem Figures
()

CVIE1L

@ ® (© @
Answer Figures

FELIO

) @ B @
[a] 1 B] 2
[c] 3 [D] 4

[E] None of the above _
Two statements are given in_-the
following question, followed by four
conclusions I, II, 1T and IV. You have to
take the given statements to be true,
even if they seem tO be at variance
from commonly known facts. Read all
the conclusions and then decide which
of the given conclusions logically follow(s)
from the given statements disregarding
commonly known facts as given below :
Statements :

1. All philosophers are fools.

2. All fools are illiterates.

Conclusions :
I. All philosophers ar¢ illiterates.

II. Al illiterates are philosophers.

III. All illiterates are fools.

IV. Some illiterates would be
philosophers.

[A] Only IV follows [B] I and 1V follow

[C] Only II follows [D] III and IV follow

[E] None of the above

/6-E

82.

13

82.

90

m @ @ @
B] 2

Al 1
[c] 3 [D] 4
[E] 390w § & #E T

Prfifad vt & & @ g e &, R w7
ar Fred 1, 11, 101, IV R e &1 sneen fog M
mﬁaﬁmmé,ﬂﬁ%’r%ﬁmwﬁa
ﬁrﬂ?ﬁas‘fﬁﬁtmﬂ‘ﬁr&ﬁﬂﬁqﬁsﬂtmﬁ
ﬁsﬁqmﬁmﬂﬁﬂﬂa—mﬂﬁﬁﬂhﬁﬁq
mmw%waﬁiﬂmmﬁmﬁq
M Al @ Aifes w9 FTEOT F@ E

HYUA

et 11 SR F R

(C]
FW 8

(D] I 3R IV 3FE

J[E] i A & BN T

[P.T.O.
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85.

86.

87.

88.

89.

90.

If the population figures are given for
each State of India, then the data can
be classified as L

[A] qualitative [B] quantitative

[C] chronological [D] geographical
[E] None of the above

The measure which takes into account
all the data items is

[A] mean [B] frequency

[C] mode [D] median

[E] None of the above

If in a certain code, SAND is VDQG and
BIRD is ELUG, then what is the code for
LOVE?

[A] PRYG [B] ORTG

[C] NPUH [D] ORYH

[E] None of the above

The computer’s processor consists of
the following parts :

(Al
(B]
(€]

CPU and main memory

Hard disk and floppy drive

Control unit and ALU

[D] Operating system and application

[E] None of the above

The first computer was programmed

using

[A] Assembly language

[B] Machine language

[C] Spaghetti code

[D] Source code

[E] None of the above

A is a software program used to

view web pages.

|A] site [B] host

[C] link [D] browser

[E] None of the above

Where is RAM located? '

[A] Motherboard [B] Expansion board

[C] External drive [D] CPU

[E] None of the above : l

Which of the following is a natura

phenomenon which is caused b%r the

dispersion of sunlight in the sky
Al Twinkling of sta'rs

[[Bl] Stars seem higher than
tually are

i‘;vangcd sunrise and delayed

sunset

Rainbow
None of the above

they

(€]

(D]
[E]

/6-E
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83.

84.

87.

E
23

89.

90.

. EH

WO A

afe T % WA T % o S & s
ﬁw%,ﬁéa?mﬁqammu?g
A] ToMCHE €Y By AETH® &

Ec]] W@ﬁqﬁ[maﬁrﬁ%ﬁmﬂ'

[E] W # & H3 7

ag WY S et 3 AR H A H W g,
T8 B 2

[A] Wie¥ (mean) [B] Fmafd (frequency)
[C] ¥&e® (mode) [D] AIEMH (median)
[E] 370 # 3 +§ &

. af s fiffaa @ § SAND, VDQG & 3R

BIRD, ELUG 2, @ LOVE # feit e /1 37
[A] PRYG [B] ORTG

[C] NPUH [QJ/QRYH

[E] 3w # & Hrg A€l

: F Nam § Fefafea wm Bk E:
[A] CPU 3R &= Aurd

B] &% fem it wird gwa .

[C) ot gfe 3t ALU »—

[D] afatfén fawem 3t Ywefiehem -

[E] 37w # & * 7

qgel HO ____ < I9ENT Hh gmm
™ |

[A] rEwEel W

(B] =i W

[C] @ wre

(D] @ wie

[E] 3R # ¥ +1§ 7@

O wiRdam W 2 e swm 3w

I Ed & fee fean Smn )

[A] @§e (site)  [B] B® (host)

[C] f&% (link) [D] 9@ (browser)

[E] 3R § ¥ = 48

RAM &gl frd B 27

[A] wexErE (B] teEdye &rg

[C] ws&ed® g@ D] CPU 5

E] 37 # § +8 &

ﬁmﬁtaﬁﬁzm—?hqmmq;ﬁa:m%'ah

3 A g4 % W™ F %ema (dispersion)

% O Bl 7

[A] Rari A SR

B] G Iraa # R 39 €, s =@
s 39 wdfa 9§

[C} 3 qaien ok feifwa wqata

(D] wugy

[B] 390 % 4 9 =i




